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EHEASHMER
—. EJjBAL
1 KG/em 2 =1bar =100Kpa=1000 mbar = 10000 mmH20 =100000 Pa=14.5 psi
1 Mpa =10 KG/cm 2=1000 Kpa
1 KG/em 2 =1bar =10000 mmH20 =100000 Pa
1Kpa =1000Pa=10 mbar =100 mmH20
1 KG/em 2 =14.5 psi 100 psi =7 KG/cm 2
1 bar [:.=100 kpa =1000 mbar = 1 KG/cm 2
1 mbar =10mmH20
=, PMEhRBE
1 btu = 0.252 TR (kcal) 1MJ
1 kw/n(T-FL) = 860 T+ (kcal) = 3.6mj(Jk £)
1 mj (Jk£E) = 239 keal (T-F)
1 kcal (-F-) =1000 btux0.252 = 1.163w (L)
1btu =1.055 kj (T-4E) = 252 cal ()
1KG £8i= 10400 T+ (kcal) ~ 1000L %8y =0.8 Wl
seah = 0.8KG =8300 T (kcal)
1KG AL (S AH)= 10800 T (kcal)
1M3 KAR=8500 T+ (kcal)
HL I R e LKW () = 742 K]
1 WiZEV AR T 60 T KR—80 Ji K-RHHFERE ([FIAAS BN
=B ER
1 %% =4509 ()
1 m3 AL BAH) = 0.5 RIS GRARD
1 m3 WAL (AH) = 2.3 kg WAL < GRAD
1 m3 AL (AAH) = 1000 L (TF) (SAH)
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